Оценочный  лист

	решить

уравнение
	тип уравнения
	метод решения
	корни уравнения
	причина затруднений
	программа коррекции

	1 задание
	
	
	
	
	
	
	
	

	а) 0,4х2 + 5х = 0
	
	
	
	
	
	
	
	

	б) 0,28х4 – 0,07х2 = 0
	
	
	
	
	
	
	
	

	в) 2х4 – 5х3 – 18х2 + 45х = 0
	
	
	
	
	
	
	
	

	2 задание
	
	
	
	
	
	
	
	

	а) (х + 3)4 – 17 (х + 3)2 + 16 = 0
	
	
	
	
	
	
	
	

	б) (х2 + 2х)2 – 10 (х2 + 2х) + 21 = 0
	
	
	
	
	
	
	
	

	в) х (х + 4) (х + 5) (х + 9) + 96 = 0
	
	
	
	
	
	
	
	

	3 задание
	
	
	
	
	
	
	
	

	а) |х - 1| = 4
	
	
	
	
	
	
	
	

	б) [image: image5.png]





	
	
	
	
	
	
	
	

	в) [image: image7.png]3Ax—3l=10-2Vx7—6x + 2




	
	
	
	
	
	
	
	

	4 задание
	
	
	
	
	
	
	
	

	а) х2 – 7ах + 12а2 = 0
	
	
	
	
	
	
	
	

	б) х4 – (9а2 + 4) х2 + 36а2 = 0
	
	
	
	
	
	
	
	

	в) 9х4 – (b – 18) х2 – 2b = 0
	
	
	
	
	
	
	
	

	5 задание
	
	
	
	
	
	
	
	

	а)     [image: image9.png]—
3+ Bxeil





	
	
	
	
	
	
	
	

	б)   [image: image11.png]



	
	
	
	
	
	
	
	

	в) [image: image13.png]



	
	
	
	
	
	
	
	

	6 задание
	
	
	
	
	
	
	
	

	а) (х2 – 3х / 2 +3) ∙ (х2 – 3х / 2 – 4) + 10 = 0
	
	
	
	
	
	
	
	

	б) 2х4 + х3 – 11х2 + х + 2 = 0
	
	
	
	
	
	
	
	

	в) 7х – 2х2 + х-1 = 9 – 6х-1 + 2х-2
	
	
	
	
	
	
	
	

	оценка работы
	максимальное 

количество баллов
	тип

 уравнения
	метод 

решения
	решение уравнения
	итого
	оценка

(КНБ/КБ) * 100%

	
	
	
	
	
	
	


